s h e HEXSE 101 BERARAARAEBEER
Gt BT A T AR @A axws L]
8 @BWASL GhEEE AITHE)

—~ HARREASERSE BRALma  FRABLM ETHREBNE -
S EEERENEERL  BRA T
AR RES LR TEE > FERAFLZZARYEYE -

A EFR

—

1. Find the convolution of the two signals: x,(t)=¢"u(t) and x,(7) =3e™u(t). (20%)

[~ convolution 2=, & x () *x,(r) = on] (T)x,(t —7)dr }

2. &éfiﬁa}%m(ﬂ:ﬂ“(“;ﬁ"% L BRI (1) = 5cos(80007) » (1) % # DSB-SC 3% 31
Px () R X () Q3 FABRER . (DAL Q) REAR AR YERE

3% (complex envelope) X,.(f) (20 %)

3. Two mespages, m (1) and m,(r) with bandwidth of 2 kHz are to be time-division
multiplexed.

(a) Design a PAM commutator switching system with minimum sampling rate. (5%)

(b) A PCM system is used to digitalize this PAM/TDM signal, each sample is quantized
into 256 levels. Determine the bit rate. (5%)
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